KAUABE - FEERYLERREREE ST 7 b UAERER

Alexandriumspp.: 160
D. fortii: 0
D. acuminate: 80
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Alexandriumspp.: 0
D. fortii: 0
D. acuminata: 0
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Alexandriumspp.: 80
D. fortii: 0
D. acuminata: 0
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Alexandriumspp.: 0
D. fortii: 10
D. acuminata: 0
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Alexandriumspp.: 0
D. fortii: 60
D. acuminata: 10
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Alexandriumspp.: 0
D. fortii: 10
D. acuminata: 10
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BETISU I HIB# (cells/L)
HE =1 b = VAN ] P P
REHh S IKEE 7(]2 m B9 Alexandrium spp. _ D/’nophyS/s : :
C) D. fortii D. acuminata ZF DD Dinophysis
. Om 8.57 32.99 )
EHET 5 268 33.19 160 0 80 10 D. norvegica
Om 8.71 32.99
Q&1+H 5m 7.69 33.30 0 0 0 10 D. mitra
10m 7.39 33.33
- Om 9.20 33.21
= 80 0 0 0
O=vR 5m 8.06 33.41
Om 9.71 32.95
O =£:3" 5m 8.55 33.30 0 10 0 10 D. norvegica
10m 8.46 33.34
Bk 10m - - 0 10 10 10 D. rudgei
®KXIR 10m - - 0 60 10 20 D. rudgei
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Alexandrium spp. (cells/L)

AEAR
OH#ET | QBHH|QZVR |(DEHIF|@FE |OKR
2A8H - - - - 0 -
2148 - - - - 0 0
2A158 110 0 0 0 0 0
2H28RH 160 30 20 0 - 0
3A8H 160 20 40 0 - -
3H148 300 60 10 10 - 0
38228 810 300 80 10 10 10
3A28H| 1,550 170 90 20 - -
484H| 2,160 480 450 40 - -
485H - - - - - 60
48118| 21,130 1,270 110 30 0 0
4818H 500 110 290 30 - 0
48198 - - - - -
48258 150 40 90 10 0
5828 130 30 470 30 20 0
5898 160 0 80 0 0 0
sEE g D. fortii (cells/L)
OEET  |QBHFH|QZ VIR |OEHIF|OFEE |[OKR
2H8H - - - - 0 -
2A148 - - - - 10 0
28158 0 0 0 0 10 0
2H28H 0 0 0 0 - 0
3A8H 0 0 0 0 - -
3A14R 10 0 0 0 - 0
3H22R 0 0 0 20 0 0
3A28H 20 0 0 0 - -
484H 10 0 0 0 - -
485H - - - - - 0
48118 0 0 0 0 0 0
48188 0 10 0 0 - 0
48198 - - - 0 -
48258 0 0 0 10 0 0
582H 0 0 0 0 0 0
589H 0 0 0 10 10 60
mER D. acuminata (cells/L)
OHET | QRHEH|QZVR |DEHIF|OFEE |OXR
2A8H - - - - 0 -
2A148 - - - - 0 0
2A158 50 0 0 0 0 0
2H28H 40 0 0 0 - 0
3A8H 0 0 0 0 - -
3H148 0 0 0 0 - 0
3F22R 0 0 0 0 0 0
3H28RH 0 0 0 0 - -
4848 0 0 0 0 - -
485H - - - - - 0
48118 0 0 0 0 0 0
4818H 20 10 0 20 - 0
48198 - - - - 0 -
48258 0 0 20 30 0 0
582H 40 0 0 0 0 0
589H 80 0 0 0 10 10

HIR K [cells/L]

HIR AR [cells/L)

H R [cells/L]

Alexandrium spp.
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O#AT E R O REIIC I T 2 R £(2020~2022 4F)
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Alexandrium spp.
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